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* Select the option that 1s related to the third word in the same way as the second

word 1s related to the first word.

o 39 farehcq o1 = L ST 16X IToc O 3T Toh K e ford & 99 U e SRR
Geiferd 2

® Kick : Football : : Backstroke : ?

A. Weight lifting

C. Cricket
D.Polo
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* [f1!'9=20,9!5=28 and 5!5 = 20, then find the value of 7!3 =?

'aﬁwzzo,g!;=283ﬁtz§=20,ﬁ@=?¢lHH SIS

P
149 o e
- 1% oX
[oxX2 =20 | +x |

; /3 @\ B. 15
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A word is represented by only one set of numbers as given in any one of the alternatives. The sets

of numbers given in the alternatives are represented by two classes of alphabets as shown in the given
two matrices. The columns and rows of Matrix-| are numbered from 0 to 4 and that of Matrix-ll are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column,
for example 'C’ can be represented by 30, 43 etc and 'S’ can be represented by 86, 97 etc. Similarly, you have to
dentify the set for the word 'VOLT',

U e Fad U6 HEI-AHg SaRT aAdr 711 g, e & fAwedt # @ 50 o &
fear g1 Reedt # Ru v segr-wg 3Rt & & @@ @ Qv v § S
f& for v @ meggl # Bl egEl & wR R dfed & dEwm 0 @ 4 3R
Hegg-ll 5 F 9 Bl 3 g ¥ T R F el 30 UfFT IR A H T
HET SART AR I FHAT & 388NV & fav 'C' # 30, 43 e @RI AT ST Foheqr
& dur ‘S’ F 86, 97 M TART AT ST FHAT gl 38 TG ¥ HUH WA A R weg
VOLT' & faT @i &I 9gae ¢l

Matrix | Matrix Il

HTEGE - | HTEGE - i
| o | 2 | =] & | 5 6 | 7z\| 8 | 9
K e ! M 5 | v o] x|] a | x
1 F C 1 C 8 6)| T v | v a | x
2 | & 6 | ¥ F | 2 "Wl o | 1 X | w
3 C L E ) B | = S N | 2 T
4 FIFEBE RE: : AN TEANE N | x
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®* Which letter will be 7th to the left of %an from the left in the English alphabet?

* IS JUTHTAT | ShIH-|T A& °ﬁ2W%ﬁTrr? /

A.M

B.N\/
ié_ C.O S
.None of these
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* If the first half or I step 1s written in the reverse order, then which letter will be

Oth to the right of the 8th letter from the left?
o Jf U= T AT U IT ohl 3oc shH H foI@T SI1ar ©, o shid 97 37 CIEC)

378 % € § e BT
’ ABCDEFGHIKLMNQPQRSTUVWXYZ

L R ar S
O +9 (B0 >

C.D
D.None of these
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* If the latter are written in the reverse order, then which letter will be 4th to the
left of the 25th letter from the left?

* IR IT4, ol IS hA H foT@r STTar 8, 1 oITU § 259 378 ok ST 4207 378 hI9-9T

A. T
B.S
C.R
D.U
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®* Which letter will be between the 4th letter from the left and the 7th letter from
the right 1n the given alphabet?

o {43 TR SUTHTEAT § SITC & 49T 78R U Qe ¥ 79T 37& o He hiH-91 3T I 2
. ABCDEﬁgéﬁﬁK MNdI‘(ﬁRéTUVWXYz

N N\

A.L
B.M
C.1
D.P
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* JAF, JEF, JIF, JOF, 9
/1) TS
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.XH7WATWIUY
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* If each vowel 1s dropped from the given series, then what will be the middle

letter of the series?

o Jfq 3T 715 YT ¥ Ycdeh Lo skl 2T &1 ST a1 ST hl sl ATt A& hi--91

e ABCDET(I}I?I{IQFIYI@OFQRSTUVWXYZ

A.M
B. N
C.P

D.Q
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° ?
\}/XCD, yVEF, §TGH, /QRIJ ,

AR A
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*X_Pzy__pzy__pzy
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A UG

e

—CG5—

—

D.VR
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* APK, BQL, CRM, DSN, ......
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®* Which letter will be the 7th to the left of the 18th letter from the left in the
reverse order of the English alphabet?

* JIUSH JUIHTAT o Toradid sk H S0 § 18 378 ok SRl A 74T A& hlH-61 1T 2

A.Q
B.P

C.R
D.O
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®* Which letter 1s seventh from left of 16th from right in English alphabet?

o IS JUHTAT H SR & 169 o o1 & Tl 3T hi- 91 22

A.D
B. W
C.R
D.E
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®* Which letter 1s 5th at right of 12 from right?(If English alphabet is written in
reverse order then-)

* SHIF 9T T IR T 12 o - 547 22

A.Q
B.P

C.G
D.R




